
118"

Z

Y

X

2t2'
LY

L.

5 | Given that angle IBC is 43", find

(a) its complementary angle,

(b) its supplementary ang1e.

l3
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Let's Practis€ [tixcd practice

_111 
Ci"en that lllt is parallel to YZ, find the value of .r.



f I Civen that OIf , OX, OY andoZ are straighr lines,

(a) find the value of;r,
(b) state the value ofthe largest obtuse angle.

W

160.

8-r + 40'

Z

v
X

Topic 1



.t:J ln the diagram, lD is parallel to El and CJ is parallel to -BF.

Given that ZABF -- 45', ZBGF:45' and ZJHI:125',
(a) fifi ZDCJ,

(b) find obtuse ZCII,
(c) prove lhat LBFG is an isosceles triangle,

stating your reasons clearly.

A

D

E

F

45

B

C

c

H
125'

15
I



:l The lines lD and EH arc parallel. ZDBK : 7 5' and ZDCM: 136".
Giving your reasons clearly, find the values of
(a) ;r,

(b)y, t L
(:") ,.

C
DA

B
r 36'

f

J

G

z

E HF

M r

Y:& MENSUR { lONi:::::: :..,,-r:r r i :::: :

'l
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1l ni"a tne value of x in cach figure, stating your reason(s) clearly

(a) ABC is a straight line

C

I0r \5)

(35r + 12

B

A

(b) lC is parallelto DF

B
/ C

(2r 4s)"

E

(-r + 63)'

Marhematic\ a;EONIITRY
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sl In the diagram, lC is parallel to DE, ZCAF : 40. and ZCBD : 105".
Find the values of
(a) ,,
(b) y.

D

BA C

105"

E

1! In the diagram, lines AC, EG and BF are straight lines. lC is parallel to EG,
ZA BF : 54' and ZDG E : 37..

Find

(a) ZBFE,

(b) rcflex IBDG.
D

B
A L'

54

E G

l8
Ttpic 1



g In the diagram, O is the centre of the circle VWXY where tlY and VX are diameters.

WX is parallel to VY and ZVOY = t 19". Stating your reasons clearly, find

(a) Z.Wov,

$) zwox,
(c) ZOWX,

(d) zww. fi' X

YIl

ll9"

r:l In the figure shown below, AB, CD and EG are straight lines. ZAFG = Lx + 57.5",
ZEGD : 4x and ZEFB : y. Find the values ofx and y.

E

Zr + 57 .5' F

4x

D
G

.),

BA

C I

l9
Topic l



4 In the figure, EH is a straight line, lB is parallel to CD, ZBFH : 4x - 50. and
ICGH = Lx + 20. Find the value of J.

E

F 4.;r 50"

G D

V1 + 20,

RA

C

Il ln the diagram, BC is parallel to DE and AE is parallel to FG. ZDAE: 85'and
ZADE : 40'. Stating your reasons clearly, find

(a) reflex ZDAE,

(b) .EDG,
(c) ZACB.

A

B C

D

G

lr:, :.krfl.ri. nnrs 1 Lrj\I:Tlr\ I\lt\\l Rr:l|\ 20

E

r. \ ,i.Lf.rr \. i ru.,.r,.,' P:r i.r \ \1., ' d.rliLr,r. Trlpi I



4 In the diagram, BE is a straight line that intersects AF at D. AB ll EF, CE l/ AF,

ZABE:75" ard ICEB: 65'. Showing all workings and stating the reasons clearly,

find

(a) ZADE,

(b) obtuse ZBDF,

(c) reflex ZAFE.

D

E F

A B

C

4 In the diagram below, ABFC is a trapezium, AD ll BE, AE ll BF. AB ll CF' CD - AD,

ZABE 87' and ZFBE:23".
Stating clearly all geometric reasons and properties, calculate

(a) ZADC,

(b) zcAD,
(c) ZCFB,

(d) reflex ZCAB.

E F

A B

C

2I

D



gj f ina the values of x and y in the diagram below.

_v

333'
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:I In the diagram b elow, AF, AI, BH and DI are straight lines, ZBAF = 44', ZABH:65"
and IFAI = 47".Find

(a) IGCH, B D
(b) LAID,
(c) refrex ZCDE.

A

G

H

E
F

I

23



]!J tn ttre figure below, AC ll DG ll GK, BH ll FI and, BH and JB are straight lines.

A B C

D

160. 14.1'

H

By stating all the reasons clearly, find the values of
(a) r,
(b) r,
(c) z.

21 | ln ttre diagram. ZACE is a right angle, ZDFE-4g., ZBDF:5:,, andDF= EF.

C

D 57'

F

Calculate the values of
(a) m,

(b) n.

FE
G

(; KI

B
A

l

I

I
I

I
I
I
I

I
I
I

I

!
I

24



,, I--l Given that l-B is parallel to ED, ZBAC:56", ZBED - 47'and L4BD:90".
find the values of
(a) p,

(b) q,

(c) 
".

A

E

CDB

A In the diagram b elow, BCDE, AGD and FGC are straight lines, ZBAD = 60", AB ll FC
and AD ll FE.
Find the values ofx andy, stating the suitable reasons for your workings clearly.

F

25

B

C

A

E

y + '70"

60" G

3y 20"
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A In the diagram below, AC, GF and ED are parallel, AG is parallel to CD, ZCAE = 52",
ZCBF : 115' and ZACD : 123'. Calculate, stating your reasons clearly,

(a)ZAED, A B c
(b) tAFB,
(c) ZAGF.

D

G

E

123'lt5"

d In the diagram below, AC ll DF /l GI, ZGBC = 107o and ZEHI: 130".

Find the values of A B
(a) ,,
(b) y.

D

(;

C'

r07'

F

30'

H I

I

I
I

I

I

i

i
i
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